Q27: Rigid Body Motion, Phys3355, Fall 2005, with solution

1 Moment of Inertia of a Hollow Sphere

Find the moment of inertia of a uniform thin-walled hollow sphere of radius R and total mass M as it rotates about
an axis through the center of the sphere. Getting started: The figure below uses the z-axis as the axis of rotation.
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* | 1.0 solution

We get the moment of inertia about the z-axis by adding the moment of inertia many rings with radius y = v R? — 22
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where o = # is the mass per unit area of the sphere and
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So with this and equation 1.1
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